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2. (y) Fing the mode  ypgd median — of
.__...,.:._.Z_:.::.

normay|
4

(b) 2000 student appeared jn g, €Xaminatiop,
Distribution of marks is assumed to pe normaj
with mean 30 and standard deviation 67 5. How
Many students are eXpected to get marks between

20 and 49, 4
3. (a) Define geometric distribution, Find jg moment
gcnerating function, 4

have bivariate distribution given by
D
Plr=x,x=y)- %fa *=0.1.2,3andy= ¢

Find the marginal djstr bution of x and 7, 4

4. (a) The lines of regression of g bivariate Population
are :

2% — 15y + 99 0; 64x — 27y = 373, The
variance of Xis 9 Find :

(i) The mean value of X and 'Y,

(i) #(xp),

(2)

(b) Find the correlation coefficient for the f
data :

Examine if there js any - significance differer
in theijr performance,

6. (a) What are application of . distribution 9

(b) What is meant by Sampling error 7 Explain Proy

(3) P.T.0,



